| N of simulated tracks vs dxy | N of associated tracks (simToReco) vs dxy |

(7] (%]
Q@ o
Q = I S O S S SOt SO ST SO
= 5
3
a 10 3]
E g R N i
X (%))
[&] C
S :
I— 2 be5) U SO Ot VT SUUUPY PP ORI SUUPPE SUPPU
10 o

10

OJ--UU-- OJ-.\J\,IIII.IIII.IIII.IIII.IIII.IIII.IIII.IIII.IIII.IIII
2 I 2 L
© ] C
x x B

0955 56-15-10 -5 0 5 10 15 20 25 098 56-15-10 =5 05 10 15 20 25

TP dxy (cm) TP dxy (cm)

—=— DQM_V0001_R000000001__ Global__mkFit100Timeo__RECO

| N of simulated track

—— DQM_V0001_R000000001__Global__mkFit100Time__RECO

[72] [7p)
D b a
O = S SUUUU U SO OSSO AR
e e R R R R e R LR R LR R R RRC R EEREERLERL Lo}
8 Joi
.E ------------------------------------------------------------------------ é R I ) E 3 [ S el )
4 n
8412 5
|:10 8 LR R TR PP N
2 ;
1— ----------------------- - - T
10 O USSR Ut 00 U I 1 8 A SO AR
IQ_L.U\J : : .Q_L.U\)_I 1 1 1 : 1 1 1 1 : 1 1 :|||| 11 1 1 11 1 1
: - IS I |
o 5 5 x 5 5 5
1 1_— ---------- - ----------- ;—--0-0-04 N%-{NNND— -----------------------------
0955365 ~20 =10 10 20 30 093520 =10 0 10 20 30

TP dz (cm)

TP dz (cm)



	Contents
	Page 1


